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A,
D. IIl only E. I, 1L, and III

BE3RFH (15 questions, 4 points each, 60 points)

Which of the following has been offered as a possible explanation
for why securities in an IPO are underpriced when they are issued?
1. Underwriters typically underprice high-priced stocks so more
investors can afford them,
I1. Underwriters underprice so that the average investor will lose
money on initial bublic offerings .
[11. Underwriters underprice tominimize lawsuits by investors, which
could occur if they consistently overpriced stocks
I only B. T and II only C. T1 and III only

According to CAPM (Capital Asset Pricing Model), Which of the
following statements is/are correct?

I. . The higher an asset’s réturn, the higher its risk

II. An asset’s return is determined by its market risk only.
III. 1t assumes that investors all invest through portfolios

A. T only B. II only C. I11 only
D. I, and II only E. I and III only

Which of the followings can be treated as an option? .
[. Convertible Bonds IT. Stock Warrants
111. Preferred Stocks 1V, Common Stocks

A, 1 and Il only B. I and 111 only C. II and I1T oniy
D. 1, II'and 11l only E. I, II and VI only.

Regarding with “Market Efficiency”, which of the following statement

isfare correct?
I. Strong-form efficiency does not exist in any real market in the

world.

I1. The popular usage of technique analysis rejects the weak-form
efficiency assumption

I1I. The fluctuation of prices proves that the market is-im-

" efficiency in any form.

A. T only B. Il only C. ITT only
D. I and Il only E. I and III only.

In evaluating a long-term investment project, NPV (Net Present Value)
is the most recommended method because

1. It always provides the most correct answer in any cases

I1. It brings the adding-value to share-holders which other me thods

can not accomplish )
I11. It considers the time value of money, which other methods do

not.
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A. T only B. 1T only C. 111 only
D. I, and II only E. I and III only

Regarding with derivative securities, which of the following
statements is/are correct?
I. All else being equal, an American option has more value than a
European option with the same ierm.
1. All else being equal, a future has more value than a forward
contract with the same term.
I11. All else being equal, ,aderivative security has more value
than its underlying asset
A. I only B. 1I only - C. III only
D. 1, and IT onty E. I and III only

Based on MM’s Theory of capital structure, which of the following

statements is/are incorrect?

1. W1thout considering taxes and bankruptcy costs, the value of a firm
is determined by its investment policy, not by its capital
structure policy.

II. Considering taxes and bankruptcy costs, capital structure would
matter because the risk of sharcholders can be transferred to
debt-holders if firms use debt.

IT1. Optima} structure is reached when benefit of tax- shseld 18
greater than cost of bankruptcy

A. 1 and IT only B. I and IIT only C. [II and I1I only
D. II only E. TII only

All else being equal, which of the following would increase the length
of a firm's cash cycle? Consider each in isolation of one another.
I. inventory turnover is increased

II. Accounts Receivable period is increased

111. Accounts Payable period is decreased

A. T only B 1T only C. 111 only
D. I, and II only E. Il and II1 only

9. After the implementation of FHFRA—, which of the following

statements isfare correct ?
. Dividend pay-out ratio should increase because effective tax rate
(to investors) on dividends, on average, decreases.
IT. Dividend pay-out ratio should remain the same based on MM Theory
of dividend policy. "
[11.Dividend pay-out ratio should increase because retained earnings
are taxed.
1V. Stock price drop on ex-dividend dates should narrow.
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A. T only. B. II only. C. 1 and 111
D. II and IV. E. 1, T1I and IV.

10. Company A is thinking of changing its capital structure by issuing
debt to buy back stock. Which of the following principles shouwld be
used ?

1. MM Theory of capital structure,

I1. Bxpected return on assets (i) remains the same.
I1I. Corporate tax rate can be ignored.

IV. Present value of tax shield should be considered..

A, T and IV. B. I1 and IV. C. 111 and 1V. D. IV only.
E. I, II and IV.

11.Which of the following reasons for mergers and acquisitions ({HE8)
make sense (1.e., good reasons) ?
I. Synergy
1I.Diversification ({2%% k)
III. Cost reduction.
IV. Efficiency improvement,

A.I. B. I, IIl, and IV. C. I, IT, III and IV. D. III. E. IV.

12.Company B’s stock price decreases when Company B announces to make a
seasoned equity offering (BR&IEE). Which of the following reasons
isfare correct ?

I. Managers make a seasoned equity offering when the stock is
overpriced.

II.  The number of stock will increase after the seasoned equity
offering and, thus, EPS will degrease.

III. The money raised from the seasoned equity offering will be
invested in a positive NPY project. ’

A. Tonly. B, IT only, C, T and EI. D. I, II and III. E. None of above.

13. Mutual fund K and the market portfoliohave the following performance:

Mutual Pund K ° Market portfolio
Average return 18% 14%
Standard deviation 30% 22%
Beta ‘ 1.4 1.0

Should you recommend mutual fund K to inﬁestors who already invested
in many risky assets ? Risk-free rate is 5% pér year.

A. Yes, based on average return and standard deviation.

B. Yes, based on average return and Beta.

C. No, based on average return and standard -deviation.
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D. No, based on average return and Beta.
E. Yes, based on average return.

14. Firm A plans to buy B. Before the announcement,

Firm A Firm B

share price $20 %10
Numbgr of stocks 25 10
Equity (book value) 400 80

Assume synergy = $120. Firm A pays cash $180 to buy B. What is the
NPV of this merger to firm A ?
A. 40 B, 20 C. 8 D. 100 E. None of the above.

15. When a company issucs debt, what happens to the firm's shareholders ?

IT.
1.Please explain and contrast the following four risk measures

I.. Expected return on equity increases.

I1.Beta of equity remains the same.

111. Tax shield from debt remains the same.

IV. Expected return on assets remains the same even when tax rate is
not zero. )

AT B. IT C. III D, V. E. I and IV.

Essay/ Computation Problems (4 questions,10pointscach,40points)

{1) Standard Variation

(2) Co-efficient of Variance
(3) Beta

(4) VAR (Value At Risk)

.You must bid to supply 3 machines per year for each of the next three

years to a company. To get set up, youwill need $1,000,000 in equipment,
to be depreciated straight-line to zero over three years, with no

salvage value. Total fixed costs per year are $500,000, and variable
costs are $700,000 million per machine. Assuming a tax rate of 30%
and a required return of 10%, you should offer to supply the jets at
a minimum price of how much? Please show computation steps for partial
credit. (note: PVIFA(10%, 3 years)=2.4869)

.Companies A and B have decided to mergel(é§ﬁ¢). Both companies have

debt outstanding and the new firm is responsible for this debt.

- Suppose there are no economic gains (or synergy #3%) from this merger.

Will the market value of original Company A’s equity (JE A AFE
HHER) increase, decrease, or remain the same as a result of this
merger 7 How about the market value of original Company A’s debt 7
Why ? Suppose (1) transaction cost of this merger is zero and (2)
takeover premium (BEENEE) is zero.
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4 . Assume that well;diversified portfolios X and Y have the following
characteristics:

Portfolio Expected annual return Beta
X 16% - 1.0
Y , 14% 0.25

Construct a strategy to earn a profit at no risk. Risk-free rate=3%.
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| 3. True and False((2FERE) » to get full credit you must justify your answer °
(1) A result significant at the 10% level is obviously also significant at the 5% level.(5 43
(2) If event A and B are independent, then P (A and B)=0 - (5 43) i
i (3) The probability that in three random digits there is at least one ‘9 is 0.1+0.1+0. 1=0.3 = (5 7
- 4) | A
101 (4) A standard deviation can never be greater than an average ° (5 1)
(5) Ifevent AandBina sample space are collectively exchaustive, then it follows that
P(AYR®B)=1 - (5 53)
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